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SEQUENCES AND SERIES

Exercise

1. 10th term of 4 + 6 + 8 + …. Is

A. 18

B. 20

C. 22

D. 26

Answer: C

W t h Vid S l ti

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_mpKHr315SYkc


Watch Video Solution

2. nth term of 4 + 9 + 14 + … is

A. 5n - 1

B. 4n - 1

C. 5n + 1

D. 4n + 1

Answer: A

Watch Video Solution

3. If the first term of an A.P is - 1 and common difference is - 3, then 12th

term is

A. 34

B. 32

https://dl.doubtnut.com/l/_mpKHr315SYkc
https://dl.doubtnut.com/l/_VQbPGH2RhOM1
https://dl.doubtnut.com/l/_wX9NfqGf3UY3


C. -32

D. -34

Answer: D

Watch Video Solution

4. In an A.P, if first term is 4, 9th term is 20, then 15th term is

A. 16

B. 32

C. 18

D. 36

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_wX9NfqGf3UY3
https://dl.doubtnut.com/l/_aP6WvGGvHKid


5. In an A.P, if 16th term is 47 and 31 st term is 92, then 27th term is

A. 80

B. 120

C. 86

D. 116

Answer: A

Watch Video Solution

6. If 10th term of an A.P is 15 and 15th term is 10, then 4th term is

A. 24

B. 23

C. 22

D. 21

https://dl.doubtnut.com/l/_qjqsvosWUwHy
https://dl.doubtnut.com/l/_zpyaor6dKRDA


Answer: D

Watch Video Solution

7. An employee got Rs. 300 per month in his 11 year serivce and got Rs.

495 per month in his 24th year service. If his monthly salary is in A.P., then

what is his initial salary ? What is his incriment ?

A. Rs. 200, Rs 10

B. Rs. 300, Rs 10

C. Rs. 150, Rs.20

D. Rs.150, Rs.15

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_zpyaor6dKRDA
https://dl.doubtnut.com/l/_nvg0dBgVsNXN


8. The interior angles of a polygon are in A.P. if the smallest angle is 

and the common difference is  then the number of sides is q

A. 5

B. 7

C. 36

D. 44

Answer: A

Watch Video Solution

100∘

4∘

9. Which term of the A.P. 5,2, -1, … is -22 ?

A. 8

B. 9

C. 10

D. 11

https://dl.doubtnut.com/l/_mEL2Rwenlfrx
https://dl.doubtnut.com/l/_2cKGlKpfStNN


Answer: C

Watch Video Solution

10. Which term of 11 + 9 + 7 + …. Is - 13

A. 13

B. 12

C. 5

D. 11

Answer: A

Watch Video Solution

11. The number of numbers that are divisible by 9 between 1,1000 is

A. 101

https://dl.doubtnut.com/l/_2cKGlKpfStNN
https://dl.doubtnut.com/l/_QW3G5ExPBjY9
https://dl.doubtnut.com/l/_NLu61R2S5669


B. 110

C. 111

D. 100

Answer: C

Watch Video Solution

12. The number of numbers which are divisible by 7 between 100 and 1000

is

A. 7

B. 128

C. 132

D. 127

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_NLu61R2S5669
https://dl.doubtnut.com/l/_azbQukl6770Y


13. Sum of 20 terms of 3 + 5 + 7 + 9 + ….is

A. 410

B. 440

C. 460

D. 220

Answer: B

Watch Video Solution

14. Sum of first 15 terms of 2 + 5 + 8 + ….. Is

A. 44

B. 42

C. 345

D. 386

https://dl.doubtnut.com/l/_azbQukl6770Y
https://dl.doubtnut.com/l/_i5vljDBFn1Rq
https://dl.doubtnut.com/l/_0ApsjborhXmK


Answer: C

Watch Video Solution

15. How many terms are to be added to make the sum 52 in the series (-8)

+ (-6) + (-4) + ….. ?

A. 3

B. 13

C. 12

D. 31

Answer: B

Watch Video Solution

16. How many terms are added in 24 + 20 + 16 + …… to make the sum 72 ?

https://dl.doubtnut.com/l/_0ApsjborhXmK
https://dl.doubtnut.com/l/_cB6t9sCIeL4R
https://dl.doubtnut.com/l/_V1C8TMSYRIGX


A. 6

B. 7

C. 8

D. 9

Answer: D

Watch Video Solution

17. In an A.P., if common difference is 2, sum to n terms is 49, 7th term is

13, then n =

A. 0

B. 5

C. 7

D. 13

Answer: C

https://dl.doubtnut.com/l/_V1C8TMSYRIGX
https://dl.doubtnut.com/l/_l8N6fptEJpE1


Watch Video Solution

18. If the sum of the series 24, 20, 16 ….. Is 60 then the number of terms is

A. 0

B. 3

C. 13

D. 25

Answer: B

Watch Video Solution

19. IF 8th term of an A.P. is 15, then the sum of 15 terms is

A. 15

B. 0

C. 225

https://dl.doubtnut.com/l/_l8N6fptEJpE1
https://dl.doubtnut.com/l/_vIrOIrTHDmyu
https://dl.doubtnut.com/l/_ya6LMxqJ5UKR


D. 225/2

Answer: C

Watch Video Solution

20. If 10th term of an A.P is 13, then the sum of 19 terms =

A. 26

B. 247

C. 352

D. 1496

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_ya6LMxqJ5UKR
https://dl.doubtnut.com/l/_b5uuHrmHnDA7


21. If the sum of the first ten terms of an A.P is four times the sum of its

five terms, the ratio of the first terms to the common difference is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1: 2

2: 1

1: 4

4: 1

22. If the sum of the three numbers in A.P is 15 and their product is 45,

then the numbers are

A. 1,5,9

B. 1,6,10

C. 2,5,8

https://dl.doubtnut.com/l/_rTzopA8499dN
https://dl.doubtnut.com/l/_T6Edh580AnyH


D. 3,3,5

Answer: A

Watch Video Solution

23. If the sum of three numbers which are in A.P is 27 and the product of

first and last is 77, then the numbers are

A. 7,9,11

B. 6,9,12

C. 7,10,11

D. none

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_T6Edh580AnyH
https://dl.doubtnut.com/l/_laITLli8Hh1C


24. If the sum of three numbers which are in A.P is 15 and the sum of the

squares of the extermes is 58, then those numbers are

A. 3,5,7

B. 2,5,8

C. 3,6,9

D. none

Answer: A

Watch Video Solution

25. If the sum of four numbers in A.P is 24 and the sum of their square is

164, then those numbers are

A. 3,5,7,9

B. 1,4,7,11

C. 3,4,5,6

https://dl.doubtnut.com/l/_pWRQAPrty4xc
https://dl.doubtnut.com/l/_3kT7s3SL4emI


D. none

Answer: A

Watch Video Solution

26. Let  be the rth term of an A.P, for r = 1,2 …. If for some positive

integers m and n, we have  and  , the  =

A. 

B. 1/m + 1/n

C. 1

D. 0

Answer: C

Watch Video Solution

Tr

Tm =
1

n
Tn =

1

m
Tmn

−1/mn

https://dl.doubtnut.com/l/_3kT7s3SL4emI
https://dl.doubtnut.com/l/_2kxiDHb7Oqq0


27. If a and x are positive integers such that x a and 

 are in A.P , then least possible value of a is

A. 5

B. 7

C. 11

D. none of these

Answer: A

Watch Video Solution

<

√a − x, √x, √a + x

28. If the length of sides of right angled triangle are in A.P., then the sines

of the acute angles are

A. 3/5, 4/5

B. 

C. 

√2/3,√1/3

,
√5 − 1

2

√5 + 1

2

https://dl.doubtnut.com/l/_hNAIZ9VDfVtG
https://dl.doubtnut.com/l/_3vRw75ifMcSf


D. 

Answer: A

Watch Video Solution

,
√3 − 1

2

√3 + 1

2

29. If three positive real numbers a,b, c are in A.P such that abc = 4, then

the minimum possible value of b is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

23 / 2

22 / 3

21 / 3

25 / 2

https://dl.doubtnut.com/l/_3vRw75ifMcSf
https://dl.doubtnut.com/l/_gR9oLsgwRxQf


30. If  are in A.P ., then x =

A. 1/2 or 3/2

B. 3

C. 4 or 5

D. 8

Answer: B

Watch Video Solution

log5 2, log5(2x − 5)log5(2x − 7/2)

31. If are in A.P. such that 

 then 

 =

A. 909

B. 75

C. 750

a1, a2, a3, ……….

a1 + a5 + a10 + a15 + a20 + a24 = 225,

a1 + a2 + a3 + ……a23 + a24

https://dl.doubtnut.com/l/_33kePTnjXFqQ
https://dl.doubtnut.com/l/_AVk5iERIdZw3


D. 900

Answer: D

Watch Video Solution

32. Four numbers are in arithmetic progression. The sum of first and last

terms in 8 and the product of both middle terms is 15. the least number

of the series is

A. 4

B. 3

C. 2

D. 1

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_AVk5iERIdZw3
https://dl.doubtnut.com/l/_rYozb9BTLHE1
https://dl.doubtnut.com/l/_CdNdU3tHANxZ


33. The ratio of the sums of m arithmatic means and n arithmatic means

between two numbers is

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

m : n

n :m

2m − 1: 2n − 1

34. Between 1 and 31 are inserted m arithmetic means, so that the ratio of

the 7th and (m - 1) th means is 5 : 9. then the value of m is

A. 12

B. 13

C. 14

https://dl.doubtnut.com/l/_CdNdU3tHANxZ
https://dl.doubtnut.com/l/_RCHNViKNxY7T


D. 15

Answer: C

Watch Video Solution

35. If  are in A.P with common difference d  0, then

sum of the series sin d

A. 

B. ,

C. 

D. 

Answer: A

Watch Video Solution

a1, a2………an ≠

[seca1seca2 + seca2seca3 + …. + secan− 1secan]

tanan − tana1

cot an − cota

secan − seca1

cosecan − coseda

https://dl.doubtnut.com/l/_RCHNViKNxY7T
https://dl.doubtnut.com/l/_D3SWUxkB1eov
https://dl.doubtnut.com/l/_d5wcxKkgXHv3


36. Value of  is

A. 

B. 

C. 1

D. none of these

Answer: B

Watch Video Solution

Lim
n→ ∞

n

∑
r= 1

tan− 1( )
1

2r2

π/2

π/4

37. Given that n A.M.s are inserted between two sets of numbers a , 2b

and 2a, b where a,b  R . Suppose further that the mth mean between

these sets of numbers is same. Then the ratio a : b =

A. n - m + 1 : m

B. n - m + 1 : n

C. n : n - m + 1

∈

https://dl.doubtnut.com/l/_d5wcxKkgXHv3
https://dl.doubtnut.com/l/_EQI5sPSKBqFM


D. m : n - m + 1

Answer: D

Watch Video Solution

38. If pth, qth, rth terms of an A.P are a,b,c then a(q - r ) + b(r - p ) + c(p - q)

=

A. 0

B. 1

C. a + b + c

D. abc

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_EQI5sPSKBqFM
https://dl.doubtnut.com/l/_o4Yc8cAcPGwW


39. If mth terms of an A.P . Is n and nth term is m, then (m + n)th term is

A. 0

B. m + n - p

C. m + n

D. mn / (m + n)

Answer: A

Watch Video Solution

40. If the mth term of an A.P is n and nth term is m , then pth term =

A. m - n + p

B. n - m + p

C. m + n - p

D. m - n - p

https://dl.doubtnut.com/l/_3f2GjlYf6rIx
https://dl.doubtnut.com/l/_nrpl2FFzxH7s


Answer: C

Watch Video Solution

41. If 100 times the  term of an A.P with non zero common different

equals the 50 times its  term, then the  term of this AP is

A. 150

B. zero

C. -150

D. 150 times its  term

Answer: B

Watch Video Solution

100th

50th 150th

50th

42. If the sum of m terms of an A.P, is equal to the sum of n terms of the

A.P ., then the sum of (m + n) terms is

https://dl.doubtnut.com/l/_nrpl2FFzxH7s
https://dl.doubtnut.com/l/_Dbf0cncEB7HY
https://dl.doubtnut.com/l/_ldKIkJkoztNJ


A. 0

B. m + n - p

C. 

D. 

Answer: A

Watch Video Solution

m2 − n2 + 1

m2 + n2 − 1

43. If  are in A.P then 

=

A. n

B. n + 1

C. n - 1

D. 0

Answer: C

a1, a2……an

+ + …. . +
√a1 + √an

√a1 + √a2

√a1 + √an

√a2 + √a3

√a1 + √an

√an− 1 + √an

https://dl.doubtnut.com/l/_ldKIkJkoztNJ
https://dl.doubtnut.com/l/_HFfoM5oie1Dt


Watch Video Solution

44. If the ratio of sum of n terms in two A.P' s is 2n : n + 1, then the ratio

of 8th terms is

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

15: 8

8: 13

5: 17

45. The sum of n terms in two A.P's are in the ratio 3n + 1 : n + 4 , then the

ratio of 4th terms is

A. 13: 8

https://dl.doubtnut.com/l/_HFfoM5oie1Dt
https://dl.doubtnut.com/l/_zxkge77KKvCq
https://dl.doubtnut.com/l/_bDQgnH4PSxuk


B. 

C. 

D. 

Answer: B

Watch Video Solution

22: 11

27: 7

13: 22

46. If danotes the sum of n terms of n terms of an A.P. then 

A. 0

B. 1

C. 3

D. 2

Answer: A

Watch Video Solution

Sn

Sn+ 3 − 3Sn+ 2 + 3Sn+ 1 − Sn =

https://dl.doubtnut.com/l/_bDQgnH4PSxuk
https://dl.doubtnut.com/l/_iIMtWqxKJall


47. The first term of an A.P of consecutive integers is  . The sum of

(2p + 1) terms of this series can be expressed as

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

p2 + 1

(p + 1)2

(2p + 1)(p + 1)2

(p + 1)3

p3 + (p + 1)3

48. The numbers  form first three terms of an A.P .

Its fifth term =

A. 

B. 

32 sin 20 − 1, 14, 34 − 2 sin 20

−25

−12

https://dl.doubtnut.com/l/_iIMtWqxKJall
https://dl.doubtnut.com/l/_jonGdvZlgBk6
https://dl.doubtnut.com/l/_6i9DsS6z8HE0


C. 40

D. 53

Answer: D

Watch Video Solution

49. Arithmetic mean of 1/2 & 1/3 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

5/6

5/12

12/5

6/5

https://dl.doubtnut.com/l/_6i9DsS6z8HE0
https://dl.doubtnut.com/l/_YuknlAgSEn1K


50. One of the four A,M's between 3, 23 is

A. 6

B. 8

C. 15

D. 21

Answer: C

Watch Video Solution

51. Sum of 4 Arithmetic means between 3 and 23 is

A. 52

B. 50

C. 48

D. 69

https://dl.doubtnut.com/l/_C2Zm0j66zp8h
https://dl.doubtnut.com/l/_IsQ44cshxIwC


Answer: A

Watch Video Solution

52. Sum of 14 A.M's between 5 and 8 is

A. 

B. 

C. 92

D. 91

Answer: D

Watch Video Solution

454/5

456/5

53. If n arithmetic means are inserted between 2 and 38 , then the sum of

the resulting series is obtained as 200, then the value of n is

https://dl.doubtnut.com/l/_IsQ44cshxIwC
https://dl.doubtnut.com/l/_ueVSDkzajuyV
https://dl.doubtnut.com/l/_cDuFK81luKCL


A. 6

B. 8

C. 9

D. 10

Answer: B

Watch Video Solution

54. If 1,  are in A.P ., then

A. 

B. 

C. 

D. all of the above

Answer: A

Watch Video Solution

logy x, logz y, − 15 logx z

z3 = x

x = y− 1

z − 3 = y

https://dl.doubtnut.com/l/_cDuFK81luKCL
https://dl.doubtnut.com/l/_ifhZ2oBJ8Ob9


55. If the common difference of an A.P is 1 and 6th term is

then first term is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(4 cos2 α + 1)/cos2 α,

sec2 α

tan2 α

cot2 α

cos ec2α

56. If  are the sums of first n natural numbers their squares

and their cubes respectively, then 

A. 

B. 

S1, S2, S3,

S3(1 + 8S1) =

S2
2

9S2

https://dl.doubtnut.com/l/_ifhZ2oBJ8Ob9
https://dl.doubtnut.com/l/_lEKN0ykIqRBd
https://dl.doubtnut.com/l/_6ZC0Qulb2NVx


C. 

D. none

Answer: C

Watch Video Solution

9S2
2

57. Sum of n terms of  is

A. n/(n + 1)

B. (n + 1)/n

C. n/(2n + 1)

D. (2n + 1)/n

Answer: A

Watch Video Solution

+ + + ….
1

1.2

1

2.3

1

3.4

https://dl.doubtnut.com/l/_6ZC0Qulb2NVx
https://dl.doubtnut.com/l/_LF0YH08v4yu1


58. Sum of the series S =

 upto 20

terms is

A. 110

B. 111

C. 115

D. 116

Answer: C

Watch Video Solution

1 + (1 + 2) + (1 + 2 + 3) + (1 + 2 + 3 + 4) + ……
1

2

1

3

1

4

59. If

(3)(2001)+…..+(2003)(1)=(2003) (334)(x),` then x=

A. 2005

12 + 22 + 32 + …. . + 20032 = (2003)(4007)(334) and (1)(2003) + (2)(20

https://dl.doubtnut.com/l/_5kkNa3P2clC4
https://dl.doubtnut.com/l/_RZvwc2v9Mu5A


B. 2004

C. 2003

D. 2001

Answer: A

Watch Video Solution

60. The value of the expression 

Where  is an imaginary cube root of unity, is

A. 

B. 

C. 

D. none of these

Answer: A

(1 + )(1 + ) + (2 + )(2 + ) + (3 + )(3 + ) + …
1

ω

1

ω2

1

ω

1

ω2

1

ω

1

ω2

ω

n(n2 + 2)

3

n(n2 − 2)

3

n(n2 + 1)

3

https://dl.doubtnut.com/l/_RZvwc2v9Mu5A
https://dl.doubtnut.com/l/_CvBfrsKHOdOO


Watch Video Solution

61. If 2nd term of a G.p. is 24 and 5th terms is 81 then the first term is

A. 16

B. 18

C. 21

D. 12

Answer: A

Watch Video Solution

62. If 6th term of a G.P is -1/32 and 9th term is 1/1256, then 11th term =

A. 1024

B. 1/1024

C. 1/256

https://dl.doubtnut.com/l/_CvBfrsKHOdOO
https://dl.doubtnut.com/l/_q35Tvg6JqMyx
https://dl.doubtnut.com/l/_WIwZ4sb4blMm


D. 1/512

Answer: B

Watch Video Solution

63. Which term of 0.004 + 0.02 + 0.1 + ….. Is 12.5 ?

A. 5

B. 6

C. 7

D. 8

Answer: B

Watch Video Solution

64. Which term of the series 1,2,4,8,……… is 256?

https://dl.doubtnut.com/l/_WIwZ4sb4blMm
https://dl.doubtnut.com/l/_9zEgkpSphw16
https://dl.doubtnut.com/l/_IU1PtxICSx1G


A. 6

B. 9

C. 12

D. 13

Answer: B

Watch Video Solution

65. Sum of 20 terms of 3 + 6 + 12 + …. Is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3(320 − 1)/2

3(219 − 1)/2

3(220 − 1)

3(219 − 1)

https://dl.doubtnut.com/l/_IU1PtxICSx1G
https://dl.doubtnut.com/l/_0OE0kolcK7BQ


66. If nth term of series is  + n, then sum of n terms =

A. 

B. 

C. 

D. none

Answer: C

Watch Video Solution

2n

n(2n − 1) + n(n + 1)

2(2n − 1) /2 + n(n + 1) /2

2(2n − 1) + n(n + 1) /2

67. If 5th term of a G.P is 32 and common ratio 2, then the sum of 14 terms

is

A. 16388

B. 32766

C. 64432

https://dl.doubtnut.com/l/_0OE0kolcK7BQ
https://dl.doubtnut.com/l/_NtLWwL8kQ2Q2
https://dl.doubtnut.com/l/_pgFJo1gFqMBE


D. none

Answer: B

Watch Video Solution

68. How many terms of the series 1 + 3 + 9 + …. Sum to 364 ?

A. 5

B. 6

C. 4

D. 3

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_pgFJo1gFqMBE
https://dl.doubtnut.com/l/_GytXVrjWuxvn


69. If (1 - y) (1 + 2x + ) = , then a

value of y/x is

A. 

B. 2

C. 

D. 4

Answer: B

Watch Video Solution

4x2 + 8x3 + 16x4 + 32x5 1 − y6, (y ≠ 1)

1/2

1/4

70. In a geometric progression consisting of positive terms each term

equals the sum of the next two terms. Then the common ratio of this

progression equals

A. 

B. 

(1 − √5)
1

2

√5
1

2

https://dl.doubtnut.com/l/_OBEYTXauKHR2
https://dl.doubtnut.com/l/_2SXU6DhCtJF8


C. 

D. 

Answer: D

Watch Video Solution

√5

(√5 − 1)
1

2

71.  =

A. 1

B. 0.04

C. 25/24

D. 24/25

Answer: C

Watch Video Solution

1 + (0.04) + (0.04)2 + …. ∞

https://dl.doubtnut.com/l/_2SXU6DhCtJF8
https://dl.doubtnut.com/l/_vqVOKcxpMNfd


72. If |x| , the value of x in terms of y

is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

< 1, y = x − x2 + x3 − x4 + …. .

y

y + 1

y

y − 1

y

1 − y

1 − y

y

73. If x = 1 + a +

then 

A. 

B. 

a2 + …. ∞   ,          y = 1 + b + b2 + …. ∞,          |a| < 1, |b| < 1,

1 + ab + a2b2 + …. . ∞ =

xy

x + y − 1

x + y − 1

xy

https://dl.doubtnut.com/l/_hp8IevtZMPj8
https://dl.doubtnut.com/l/_qHbwRH2CFxSN


C. 

D. 

Answer: A

Watch Video Solution

xy

x + y + 1

x + y + 1

xy

74. If  where a,b,c are in A.P . And 

 then x,y,z, are in

A. G.P

B. A.P.

C. Arithmetic - Geometric Progression

D. H.P.

Answer: D

Watch Video Solution

x =
∞

∑
n= 0

an, y =
∞

∑
n= 0

bn, z =
∞

∑
n= 0

cn

|a| < 1, |b| < 1, |c| < ,

https://dl.doubtnut.com/l/_qHbwRH2CFxSN
https://dl.doubtnut.com/l/_6PdjEZHYn4eA
https://dl.doubtnut.com/l/_kv2yfvHEo9wN


75. If exp{ ( )  2 } satisfies the

equation  then the value of 

 is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

sin2 x + sin4 x + sin6 x + …. Upto∞ loge

x2 − 17x + 16 = 0

(0 < x < π/2)
2 cos x

sinx + 2 cos x

1/2

3/2

5/1

76. If exp , 0 

, satisfies the quadratic equation  , then

value of  is

A. 

{(tan2 x − tan4 x + tan8 x − tan6 x…. )loge 16}

< x < π/4 x2 − 3x + 2 = 0

cos2 x + cos4 x

4/5

https://dl.doubtnut.com/l/_kv2yfvHEo9wN
https://dl.doubtnut.com/l/_ZgCv8s141fmt


B. 

C. 

D. 

Answer: B

Watch Video Solution

21/16

17
11

19/31

77. For 0  the values of x which satisfy the relation 


 are given by

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

< x < π

91 + |cos x | + ∣∣ cos2 x ∣∣ + cos3 x ∣ + … .upto ∞ = 34

π/3, 2π/3

π/3, 3π/4

π/4, 3π/4

https://dl.doubtnut.com/l/_ZgCv8s141fmt
https://dl.doubtnut.com/l/_1JhvWXrzrNun


78. Given that 0

then 

 is

A. 

B. 

C. p + q - pq

D. p + q + pq

Answer: B

Watch Video Solution

< x < , < y < and
∞

∑
k= 0

( − 1)k tan2k x = p,
∞

∑
k= 0

( − 1)k cot2k y =
π

4

π

4

π

2

∞

∑
k= 0

tan2k x cot2k y

+ −
1

p

1

q

1

pq

1

+ −1
p

1
q

1
pq

79. The coefficient of x in  is

A. 15

(x2 + )
5c

x

https://dl.doubtnut.com/l/_1JhvWXrzrNun
https://dl.doubtnut.com/l/_1Gtd82g4ZmHR
https://dl.doubtnut.com/l/_SJLHvDIJhXq5


B. 20

C. 6

D. none

Answer: A

Watch Video Solution

80. y,

then

A. x = y

B. 2x + 4y = 4

C. 

D. x + y = 0

Answer: B

Watch Video Solution

+ + + + …. . = x, + + + + … =
1

2

1

4

1

8

1

16

1

3

1

9

1

27

1

81

x2 = y

https://dl.doubtnut.com/l/_SJLHvDIJhXq5
https://dl.doubtnut.com/l/_KTtIKr9kfUxi


81. the sum to infinity of  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

+ + + + ….
1

7

2

72

1

73

2

74

1/5

7/24

5/48

3/16

82. The sum of an infinite G.P. is 2. If the sum of their squares is 4/3, then

the third term is

A. 

B. 1

C. 1/4

1/2

https://dl.doubtnut.com/l/_KTtIKr9kfUxi
https://dl.doubtnut.com/l/_UfUEJds4CGMz
https://dl.doubtnut.com/l/_4oco7kMr6aCn


D. 10

Answer: A

Watch Video Solution

83. The least value of n for which  to n terms is

greater than 1000 is

A. 7

B. 8

C. 9

D. 10

Answer: D

Watch Video Solution

1 + 2 + 22 + ……

https://dl.doubtnut.com/l/_4oco7kMr6aCn
https://dl.doubtnut.com/l/_kCK47405vyrg


84. If x  0, and 

then x =

A. 2

B. 3

C. 4

D. 5

Answer: C

Watch Video Solution

>

log2 + log2(√x) + log2(4√x) + log2(8√x) + log2(16√x) + …. . = 4

85. If (1 + 3 + 5 + …. +P ) + (1 + 3 + 5 + …. Q) = (1 + 3 + 5 + … r) where each set

of parentheses contains the sum of consecutive odd integers as shown,

the smallest possible value of p + q + r, is

A. 12

https://dl.doubtnut.com/l/_4QYyde57JZG2
https://dl.doubtnut.com/l/_L62OCdUxKC0U


B. 21

C. 45

D. 54

Answer: B

Watch Video Solution

86. The greatest value on n so that  terms is less

than 4321 is

A. 6

B. 7

C. 8

D. 9

Answer: A

Watch Video Solution

1 + 5 + 52 + 53 + …. N

https://dl.doubtnut.com/l/_L62OCdUxKC0U
https://dl.doubtnut.com/l/_xh7rdBOd3w5r


87. 7 + 77 + 777 + …. N terms =

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

70(10n − 1) /81 − 7n/9

7(10n − 1) /81 − 7n/9

7(10n − 1) − 7n/9

88. 6 + 66 + 666 + ….n terms =

A. 

B. 20

C. 

D. none

20(10n − 1) /27 − 2n/3

(10n − 1) /81 − 2n/9

60(10n − 1) /27 − 2n/3

https://dl.doubtnut.com/l/_xh7rdBOd3w5r
https://dl.doubtnut.com/l/_m46EC7zIMDw0
https://dl.doubtnut.com/l/_5AIZKfZXKOYn


Answer: A

Watch Video Solution

89. The sum to n terms of the series .5 + .55 + .555 + ….. Is

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

− (1 − )
5n

9

5

81

1

10n

+ (1 − )
5n

9

5

81

1

10n

− ( − 1)
5n

9

5

81

1

10n

90. 7 + 77 + 777 + …. N terms =

A. − (1 − )
7n
9

7
81

1

10n

https://dl.doubtnut.com/l/_5AIZKfZXKOYn
https://dl.doubtnut.com/l/_rgKJ0mX20KrT
https://dl.doubtnut.com/l/_50gABQCJkFTv


B. 

C. 

D. none

Answer: A

Watch Video Solution

−
7(10n − 1)

9
7n
81

−
70(10n − 1)

81
7n
9

91. The sum of first 20 terms of the sequence 0.7, 0.77, 0.777,….. Is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(179 + 10− 20)
7
81

(99 + 10− 20)
7
9

(179 − 10− 20)
7
81

(99 − 10− 20)
7
9

https://dl.doubtnut.com/l/_50gABQCJkFTv
https://dl.doubtnut.com/l/_V8n4C4F5oY0Y
https://dl.doubtnut.com/l/_2Pva4KVR05zG


92. The value of n for which 704 +  ….. Upto n terms

= 1984 -  …. Upto n terms is

A. 5

B. 4

C. 4

D. 10

Answer: A

Watch Video Solution

(704) + (704) +
1

2

1

4

(1984) + (1984)
1

2

1

4

93. The positive integer n for which 2 .  + ............... n . 

 is

A. 510

B. 511

C. 512

22 + 3. 23 + 4. 24

2n = 2n+ 10

https://dl.doubtnut.com/l/_2Pva4KVR05zG
https://dl.doubtnut.com/l/_TuryDWxxVVko


D. 513

Answer: D

Watch Video Solution

94.  + (888 …. N digits ) =

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

(666…. Ndigits)2

(10n − 1)
4
9

(102n − 1)
4
9

(10n − 1)24
9

https://dl.doubtnut.com/l/_TuryDWxxVVko
https://dl.doubtnut.com/l/_ljmCcqrD87Jl


95. If the sum of three numbers in a G.P is 26 and the sum of products

two at a time is 156, then the numbers are

A. 2,6,18

B. 1,8,64

C. 1,5,25

D. 1,4,1

Answer: A

Watch Video Solution

96. If 0

then

A. xyz = xz + y

B. xyz = xy + z

< ϕ < π/2, and x =
∞

∑
n= 0

cos2n ϕ, y =
∞

∑
n= 0

sin2n ϕ and z =
∞

∑
n= 0

cos2n ϕ s

https://dl.doubtnut.com/l/_I7kGoAKumNXd
https://dl.doubtnut.com/l/_BHwfv0vjNy86


C. xyz = x + y + z

D. xyz = yz + zx

Answer: A

Watch Video Solution

97. If the sum of three numbers in G.P is 21 and their product is 216, then

the numbers are

A. 3,6,12

B. 2,4,8

C. 5,7,9

D. none

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_BHwfv0vjNy86
https://dl.doubtnut.com/l/_tRBo7EpiQx3T
https://dl.doubtnut.com/l/_mH1S88rep40e


98. If the sum of three numbers in G.P is  and the product of the

extremes is  then the numbers are

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

7

64
1

1024

, ,
1

64

1

32

1

16

16, 32, 64

, ,
1

8

1

16

1

32

99. If pth, qth, rth terms of an A.P are a,b,c then a(q - r ) + b(r - p ) + c(p - q)

=

A. 0

B. 1

C. pqr

https://dl.doubtnut.com/l/_mH1S88rep40e
https://dl.doubtnut.com/l/_8x9KgmyM3t6M


D. abc

Answer: A

Watch Video Solution

100. Let , …. Are squares such that for each  The length of

the side of  is equal to length of diagonal of . If the length of the

side  is 10 cm then for what value of n, the area of  is less than 1

sq.cm.

A. 7

B. 8

C. 9

D. 10

Answer: B

Watch Video Solution

S1, S2, S3 n ≥ 1,

Sn Sn+ 1

S1 Sn

https://dl.doubtnut.com/l/_8x9KgmyM3t6M
https://dl.doubtnut.com/l/_iq10j5Bad9dJ


101. In G.P (p + q)th term is m, (p -q)th term is n, then pth terms is

A. nm

B. 

C. m/n

D. 

Answer: B

Watch Video Solution

√nm

√m/n

102. If 2pth term of a G.P is  and 2qth term is  , then (p + q)th term is

A. 0

B. 1

C. p + q

D. pq

q2 P 2

https://dl.doubtnut.com/l/_iwUqVtJAjoID
https://dl.doubtnut.com/l/_oDcseDqEKK7h


Answer: D

Watch Video Solution

103. If  are three geometric means between two positive

numbers a,b then  =

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

g1, g2, g3

g1g3

g2

g2
2

2g2

2g2
2

104. What is the G.M. of 6 and 24?

https://dl.doubtnut.com/l/_oDcseDqEKK7h
https://dl.doubtnut.com/l/_IfwqTjgeKOSC
https://dl.doubtnut.com/l/_UtOQueM5wKhe


A. 12

B. 15

C. 13

D. 30

Answer: A

Watch Video Solution

105. One of the 5 geometric means between  and 243 is

A. 79

B. 80

C. 81

D. 82

Answer: C

Watch Video Solution

1

3

https://dl.doubtnut.com/l/_UtOQueM5wKhe
https://dl.doubtnut.com/l/_F4PsGBg9ISfx


106. If x,y,z are the three geometric means between 6,54, then z =

A. 

B. 18

C. 

D. 27

Answer: C

Watch Video Solution

9√3

18√3

107. IF the A.M and G.M of two numbers are 13 and 12 respectively. Find

the numbers.

A. 8,12

B. 8,18

C. 10,18

https://dl.doubtnut.com/l/_F4PsGBg9ISfx
https://dl.doubtnut.com/l/_uvVagAhKZhlA
https://dl.doubtnut.com/l/_PLAJkKJiDxq0


D. 12,18

Answer: B

Watch Video Solution

108. Let x be the arithmetic mean y,z be the two geometric means

between any two positive numbers. Then value of  is

A. 2

B. 3

C. 

D. 

Answer: A

Watch Video Solution

y3 + z3

xyz

1/2

3/2

https://dl.doubtnut.com/l/_PLAJkKJiDxq0
https://dl.doubtnut.com/l/_WgDO13NIgI2y


109. 10th term of the hearmenie progression is  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

+ 2 + 3 +
2

1

1

2

1

3

2/5

−5/2

5/2

−2/5

110. If the fourth term of a H.P is 1/3 and 7th term is 1/4, then 16th term is

A. 

B. 

C. 

D. 

1/5

1/6

1/7

1/8

https://dl.doubtnut.com/l/_7632p0vVSGLa
https://dl.doubtnut.com/l/_mXDDQ5oWZvwt


Answer: C

Watch Video Solution

111. If the third and seventh terms of a H.P. are 1/7, 1/15 respectively, then

nth term is

A. 2n + 1

B. 1/(2n + 1)

C. 2n -1

D. 1/(2n - 1)

Answer: B

Watch Video Solution

112. If mth terms of H.P is n and nth term is m, then (m + n)th term is

https://dl.doubtnut.com/l/_mXDDQ5oWZvwt
https://dl.doubtnut.com/l/_F0Diz9vN7Gmv
https://dl.doubtnut.com/l/_R8vndYKyjyvy


A. 0

B. 1

C. 

D. 

Answer: D

Watch Video Solution

−1

mn

m + n

113. If a,b,c are in H.P and ab + bc ca = 15, then ca =

A. 5

B. 7

C. 9

D. 10

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_R8vndYKyjyvy
https://dl.doubtnut.com/l/_j7Qw5vVAqPCh


114. If  are in H.P. then 

=

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

a1, a2, …an

a1. a2 + a2. a3 + a3. a4 + … + an− 1. an

na1an

(n − 1)a1an

n(a1 − an)

(n − 1)(a1 − an)

115. The cotangents of the angles  are in

A. A.P.

B. G.P

C. H.P

π/3, π/4, π/6

https://dl.doubtnut.com/l/_j7Qw5vVAqPCh
https://dl.doubtnut.com/l/_hydrjmvsYb6C
https://dl.doubtnut.com/l/_fskcqyjgEmPO


D. A.G.P

Answer: B

Watch Video Solution

116. If three are four harmonic means between 1/12, 1/42, then the third

harmonic mean is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1/8

1/24

1/30

1/36

https://dl.doubtnut.com/l/_fskcqyjgEmPO
https://dl.doubtnut.com/l/_ib1jHAjUJBvT


117. Two harmonic means between 1/2, 4/17 are

A. 

B. 11/4,7/2

C. 4/7,2/11

D. 7/4,11/2

Answer: A

Watch Video Solution

4/11, 2/7

118.  are 2 H.M.'s between a,b then 

A. 

B. 

C. 

D. 

H1, H2 =
H1 + H2

H1. H2

a. b

a + b

a + b

ab

a − b

ab

ab

a − b

https://dl.doubtnut.com/l/_oAN00Be6lw0w
https://dl.doubtnut.com/l/_3WCwhobYNgul


Answer: B

Watch Video Solution

119. Let  be in A.P and  be I H.P if  =

2 and  then  is

A. 2

B. 3

C. 5

D. 6

Answer: D

Watch Video Solution

a1, a2, …. , a10 h1, h2, …. , h10 a1 = h1

a10 = h10 = 3, a4h7

120. If the arthimetic mean between a and b is , then n =
an+ 1 + bn+ 1

an + bn

https://dl.doubtnut.com/l/_3WCwhobYNgul
https://dl.doubtnut.com/l/_rxlfRUfKBuYz
https://dl.doubtnut.com/l/_ZuQBsJBtFwBK


A. 0

B. 1

C. 

D. 

Answer: A

Watch Video Solution

−1

1/2

121. If the geometic mean between a and b is  , then n

A. 0

B. 

C. 

D. 

Answer: C

Watch Video Solution

an+ 1 + bn+ 1

an + bn

1/2

−1/2

1/2

https://dl.doubtnut.com/l/_ZuQBsJBtFwBK
https://dl.doubtnut.com/l/_DsyOzzutqZMq


122. If the harmonic mean between a and b is  , then n =

A. 0

B. 

C. 

D. 1

Answer: B

Watch Video Solution

an+ 1 + bn− 1

an + bn

−1

−1/2

123. x,y are two real numbers. If A is half of their sum, G is root of their

product and H is average of their reciprocls then

A. A.H = 

B. G = A.H

C. A = 

G2

HG2

https://dl.doubtnut.com/l/_DsyOzzutqZMq
https://dl.doubtnut.com/l/_HvXBE7txGoZU
https://dl.doubtnut.com/l/_jZ3yeLwMRPoM


D. A = G + H

Answer: A

Watch Video Solution

124. If the first and (2n + 1)th terms of an A.P. , G.P. and H.P. are equal and

their (n + 1)th terms are a, b and c respectively, then

A. 

B. 

C. a + b = c

D. none of these

Answer: B

Watch Video Solution

a > b > c

ac = b2

https://dl.doubtnut.com/l/_jZ3yeLwMRPoM
https://dl.doubtnut.com/l/_ReJJyQF3cyvU


125. If  are n harmonic means between a and b (  a),

then the value of 

A. n + 1

B. n - 1

C. 2n

D. 2n + 3

Answer: C

Watch Video Solution

H1, H2, …. . Hn ≠

+
H1 + a

H1 − a

Hn + b

Hn − b

126. The harmonic mean of two numbers is 4 their arithmetic mean is A

and geometric mean is G. if G satisfies 2A +  the numbers are

A. 1, 13

B. 9 ,12

C. 3, 6

G2 = 27,

https://dl.doubtnut.com/l/_aa9KlbyI8Vfq
https://dl.doubtnut.com/l/_H0tV9bk17str


D. 4 ,8

Answer: C

Watch Video Solution

127. The ratio of the harmonic mean to the geometric mean of two

positive numbers is 12/13. the numbers are in the ratio

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

12/13

13/12

4/3

4/9

https://dl.doubtnut.com/l/_H0tV9bk17str
https://dl.doubtnut.com/l/_z59udHGUR4Bs


128. If b + c, c + a , a + b are in A.P then a , b , c are in

A. A.P

B. G.P

C. H.P

D. none

Answer: A

Watch Video Solution

129. If  are in A.P., then  are in

A. A.P

B. G.P

C. H.P

D. none of these

a2, b2, c2 , ,
a

b + c

b

c + a

c

a + b

https://dl.doubtnut.com/l/_vPZIkw5SF14g
https://dl.doubtnut.com/l/_BMff8AusD9HZ


Answer: A

Watch Video Solution

130. IF the roots of  are equal then a,

b,c are in

A. A.P

B. G.P

C. H.P

D. none

Answer: A

Watch Video Solution

(b − c)x2 + (c − a)x + (a − b) = 0

131. IF the roots of =0 are equal then

a, b, c are in

a(b − c)x2 + b(c − a)x + c(a − b)

https://dl.doubtnut.com/l/_BMff8AusD9HZ
https://dl.doubtnut.com/l/_1adSaPtNoCPM
https://dl.doubtnut.com/l/_TeFhaSsHIPHb


A. A.P

B. G.P

C. H.P

D. none

Answer: C

Watch Video Solution

132. If the sum of the roots of the quadratic equation 

is equal to the sum of the squares of their reciprocals, then a/c, b/a and

c/b are in

A. Geometric Progression

B. Harmonic Progression

C. Arithmetic - Geometric Progression

D. Arithmetic Progression

ax2 + bx + c = 0

https://dl.doubtnut.com/l/_TeFhaSsHIPHb
https://dl.doubtnut.com/l/_6Pf7t4p7UhE1


Answer: B

Watch Video Solution

133. If the system of linear equations

 has a non zero

solution then a,b,c

A. are in G.P.

B. are in H.P

C. Satisfy a + 2b + 3c = 0

D. are in A.P.

Answer: B

Watch Video Solution

x + 2ay + az = 0, x + 3by + bz = 0, x + 4ch + cz = 0

https://dl.doubtnut.com/l/_6Pf7t4p7UhE1
https://dl.doubtnut.com/l/_jqSTnoVhTqsO


134. Let f (x ) be a polynomial function of second degree. If f (1) = f( -1) and

a,b,c are in A.P., then f' (a), f'(c ) are in

A. G.P

B. H.P

C. A.G.P

D. A.P

Answer: D

Watch Video Solution

135. If x  are in G.P then 

are in

A. A.P

B. G.P

C. H.P

> 1, y > 1, z > 1

, ,
1

1 + logx

1

1 + logy

1

1 + log z

https://dl.doubtnut.com/l/_wmxq90iob3pu
https://dl.doubtnut.com/l/_uLklZAcrzBbJ


D. none of these

Answer: C

Watch Video Solution

136. If  then a ,b ,c ,d are in

A. A.P

B. G.P

C. H.P

D. none of these

Answer: B

Watch Video Solution

= = (x ≠ 0),
a + bx

a − bx

b + cx

b − cx

c + dx

c − dx

137. If  and a ,b ,c d are in G.P . Then x, y, z, t are inax = by = cz = dt

https://dl.doubtnut.com/l/_uLklZAcrzBbJ
https://dl.doubtnut.com/l/_JAKmaMkcEIPd
https://dl.doubtnut.com/l/_pBBE1YZPoTqg


A. A.P

B. G.P

C. H.P

D. none of these

Answer: C

Watch Video Solution

138. If a,b and c are in G.P then 

A. 

B. ac

C. ab

D. 0

Answer: D

Watch Video Solution

+
b − a

b − c

b + a

b + c

b2 − c2

https://dl.doubtnut.com/l/_pBBE1YZPoTqg
https://dl.doubtnut.com/l/_1SSk8VF9dvl8


139. If a,b,c are unequal numbers such that a,b,c are in A.P and b - a, c - b, a

are in G.P., then a : b : c is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1: 2: 3

1: 3: 5

2: 3: 4

1: 2: 4

140. If 2(y - a) is the H.M between y - x and y - z, then x - a, y -a, z - a are in

A. A.P

B. G.P

C. H.P

https://dl.doubtnut.com/l/_1SSk8VF9dvl8
https://dl.doubtnut.com/l/_9A7t0uZ08Y7D
https://dl.doubtnut.com/l/_XqWgondwm1QE


D. none of these

Answer: B

Watch Video Solution

141. Suppose a, b, c are positive resl numbers different from 1. If

 are in H.P., then a, b , c are in

A. A.P

B. G.P

C. H.P

D. none of these

Answer: B

Watch Video Solution

loga 100, 2 logb 10, 2 logc 5 + logc 4

https://dl.doubtnut.com/l/_XqWgondwm1QE
https://dl.doubtnut.com/l/_PsSZC6LFN5cV


142. If  are in H.P., then

A.  are in G.P

B.  are in H.P

C. b + c, c + a , a + b are in A.P

D.  are in A.P

Answer: D

Watch Video Solution

, ,
1

a2

1

b2

1

c2

a2, b2, c2

a2, b2, c2

,
1

b + c

1

c + a

1

a + b

143. If b +c, c + a, a + b are in H.P then

A. a, b, c are in A.P

B.  are H.P

C.  are in A.P

D.  are in G.P

a2, b2, c2

a2, b2, c2

a2, b2, c2

https://dl.doubtnut.com/l/_fxclLIY1aFLd
https://dl.doubtnut.com/l/_RXIMqqI0oEjP


Answer: C

Watch Video Solution

144. If a, 8, b are in A.P, a, 4 , b are in G.P, a , x, b are in H.P then x =

A. 2

B. 1

C. 4

D. 16

Answer: A

Watch Video Solution

145. Three positive numbers form an increasing G.P. if the middle term in

this G.P is doubled, the new numbers are in A.P then the common ratio of

the G.P. is

https://dl.doubtnut.com/l/_RXIMqqI0oEjP
https://dl.doubtnut.com/l/_BaRBU4hx8yuv
https://dl.doubtnut.com/l/_9fCwLWMzUnQ7


A. 2 - 

B. 

C. 

D. 

Answer: B

Watch Video Solution

√3

2 + √3

√2 + √3

3 + √2

146. If a,b,c are real

A. a = b = c

B. 2b = 3a + c

C. 

D. none of these

Answer: A

View Text Solution

b2 = √ac/8

https://dl.doubtnut.com/l/_9fCwLWMzUnQ7
https://dl.doubtnut.com/l/_K0vBLdt7rFJm


147. If p,q,r are three positive real numbers then the value of (p + q) (q + r)

(r + p) is

A.  8 pqr

B.  8 pqr

C. 8pqr

D. 8( p + q + r )

Answer: A

Watch Video Solution

>

<

148. Suppose a, b, c are in A.P and  are in G.P if a  and a +

b + c = 3/2 then the value of a is

A. 

B. 

a2, b2, c2 < b < c

1

2√2

1

2√3

https://dl.doubtnut.com/l/_K0vBLdt7rFJm
https://dl.doubtnut.com/l/_Af1ylvLcoVph
https://dl.doubtnut.com/l/_quUQwNrYpiLx


C. 

D. 

Answer: D

Watch Video Solution

−
1

2

1

√3

−
1

2

1

√2

149. If  then  are in

A. A.P

B. G.P

C. H.P

D. none of these

Answer: C

Watch Video Solution

In = ∫
π / 4

0

tann xdx I2 + I4, I3 + I5, I4 + I6.... .

https://dl.doubtnut.com/l/_quUQwNrYpiLx
https://dl.doubtnut.com/l/_MCk58PJUkJ4H


150. If a,b,c are in A.P., p,q,r are in H.P and ap, bq, cr are in G.P., then

 =

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

+
p

r

r

p

+
a

c

c

a

−
a

c

c

a

+
b

q

q

b

−
b

q

a

p

151. If a  are in A.P., then

A.  are in G.P.

B. are in H.P

C.  are in A.P

( + ), b( + ), c( + )
1

b

1

c

1

c

1

a

1

a

1

b

, ,
1

a

1

b

1

c

a, b, c

, ,
1

a

1

b

1

c

https://dl.doubtnut.com/l/_Lruam4wCC3cg
https://dl.doubtnut.com/l/_cEFkOvEfezWe


D. a,b,c are in A.P

Answer: D

Watch Video Solution

152. If a,b,c are in H.P., then the straight line  = 0 always

passes through a fixed point and that point is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

+ +
x

a

y

b

1

c

( − 1, − 2)

( − 1, 2)

(1, − 2)

(1, − 1/2)

https://dl.doubtnut.com/l/_cEFkOvEfezWe
https://dl.doubtnut.com/l/_Y0aYNKwSXKMn


153. If x,y,z are in A.P and  are also in A.P.,

then

A. 6x = 3y = 2z

B. 6x =4y = 3z

C. x = y = z

D. 2x = 3y = 6z

Answer: C

Watch Video Solution

tan− 1 x, tan− 1 y and tan− 1 z

154. The sum of the series 1 +  is

A. 

B. 

C. 

D. 

+ + + …. .
5

2

9

4

13

8

1003

256

997
256

1003

128

997
128

https://dl.doubtnut.com/l/_Z2jmDtdEZc3n
https://dl.doubtnut.com/l/_zRQR6o9oy8Le


Answer: A

Watch Video Solution

155. The sum of the series 1 +  is

A. 8

B. 9

C. 10

D. 11

Answer: C

Watch Video Solution

+ + + …. .
5

2

9

4

13

8

156. If ,

then k is equal to

(10)9 + 2(11)1(10)8 + 3(11)2(10)7 + …. + 10(11)9 = k(10)9

https://dl.doubtnut.com/l/_zRQR6o9oy8Le
https://dl.doubtnut.com/l/_OfCcZUcPzCbN
https://dl.doubtnut.com/l/_UQUsPaP5xvsh


A. 100

B. 110

C. 

D. 

Answer: A

Watch Video Solution

121

10

441
100

https://dl.doubtnut.com/l/_UQUsPaP5xvsh

